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What is meant by social insurance?
Define social assistance.

PART B — (5 x 5 = 256 marks)

Answer any FIVE questions each in 200 words.

Explam the charactenstws of model 1ndustr1a1_

relations.

What are the causes ‘and _effécts of Industrial
conflicts?,

Explain the wage structure of an organization.

Give details on the experiments of workers
education in India. '

Examine the principles of labour welfare.

As a labour welfare officers what measures would
you take to reduce labour turnover?

Portray the features of industrial counseling.
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PART C — (4 x 10 = 40 marks) -

Answer any FOUR questions each in 500 words.

Trace the growth of trade union movement in
India. '

Identify the problems and weaknesses of trade
unions in India.

»

Describe the process “of negotlatlon in' collective
bargaining.

Discuss the different = forms of
partlclpatmn in management in Indla

workers
Elaborate on the iri_dustrial housing policy and
programmes. . 0

Explain the different family beneflts schemes
available for workers in India.
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